* £—% T8

| ol
yi ér san

— two 9 :’: three

—— one

si wil
P_q four _:E_ five @ 7\’\‘ Six

®

qr ba jia

‘[3 seven 0 )\ eight 0] jL nine

shi bai yi bdi

+ ten ® E hundred "‘E a hundred

gian yl qidn

:F‘ thousand "‘% a thousand

wan yi wan shi

73— ( %) ten thousand == ﬁ ten thousand @ 7% be
ge
/]\ (’T@) a measure word (used for a noun which does not have a

® & 6 88 © 6 ©

particular measure word)

shi ge shi shi yi bdi

A+ E—E.

Grammar: a) The measure word "4*” is put after a numeral.
b) Sentence Pattern: Subject + Verb + Object

| s

Tone changes of “_”
|
original changes examples
yi yi yi gian
4 - . _,‘_T_
yi yi yl nian
e 4 s — . __“q;_
i 4+ K v» —) 7 v -tg
yi y ., yi yl wan
—_— + AN —p — "‘ﬁ

. . B (13 a4 . ¢ =2
When read alone, or in counting, or calling out numbers, —  is pronounced as Yy!I .
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3

s

shi jid

gis: 19 +H

yi eér san si wi

- Zwx,

il g ba i shi

<X AN+,

shi ge shi shi yl bai

+ At —F
shi ge yi bai shi yi qin
Frlwal¥.

shi ge yl gidn shi yi wan

+h-FR-T,

RS
11=+—
7) 11 & 1=
| 2d==FF
8) 54
9) 90 —Eﬁ"n |
e — .. |
10) 66 lozr=z= |
yi ér san si wi g L |
— =W Ak,
)17 e e
si wi b wi il qi
WhEN, Exk,
12) 85 gi lid wi si san eér yi

txam=="—,

ZENBSH;

__T_he strokes of (Ehines_e

characters should be written

First write the horizontal
strokes, then the vertical
ones.

Write the strokes from
top to bottom.

First write the strokes on
the left and then those
on the right.

First write the strokes
in the middle and then
those on both sides.

®

|| from left to right and from

top to bottom.

Write the strokes from
outside to inside before
completing the character.




4 sz

ISEE

sdn bai  y1  shi lid

| 316
s
I 2) 106
| 3) 971
4) 350
| 5) 2062

6) 1105

=B —15 208

7) 4192

8) 863

9) 2001

10) 9456

11) 718

12) 10000

lidng bdi ling ba

PA RN

Ing
a) Zero is pronounced as “&” .

yi bdi ling wii

b) 105 is pronounced as “—&F X A" .
C) Before “E” , “%” ,

“liﬁng”
pronounced as & .

“F” twois

d) 117 is pronounced as “F—TtXx".
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ni

@ X you
de

@ E)‘] ’s: of

péng

9 Hﬂ friend

hdo

@ ﬁ% good

wo
9 ﬁ [; me

you péng you
@ 7}( friend H):]K friend

ni shi wd de hdopéngyou

o 2B 3 A A
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yi  ér sdn sin er  yi
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—

b

I

B
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- ’ et

yi & sin si wi liv g
— — =W haN L,
ba jiti  shi shi  ba  jid
N+, TAA,

ni  shi wd de hdo pénhg you

RT3 8 3R




AN V2 2
SHE d6p
B
a o e b p m f d t
| u 4 er g k h j g x
zh ch sh r 2z ¢
FE1
— 1% tone / 2" tone v 3“tone \ 4" tone
B Changes of the 3" tone
original changes examples
ni xie
[{ VA [T BRI 44 [13 9 113 v bad =
P e e
ni shuo
6 v 2 + K — — [{ SRV + K — 9 /{;{]‘:"E,‘ﬂ:
ni o dd
[TERVIR + [TIREE I I TSRV T) 4« /" /fd}:_ii_,
ni qu
RV T A R UV L B TN ,L/JL:_i_
i
B Hha a & a 2)0 0 6 9 3ye & é ¢
H1 o107 5d G U 6) G G U U
v \ v v NG — NV & 1:':-
B 1) duan ki 2) ké yi 3) méi tian | BRI
v / v s v v The neutral tone is an
4) fa guo 5) zi se 6) shuf guo —
|| unstressed syllable which
1) ba ba 2)mama  3) jié jie
- \ o N g mark'— —
4) ge ge 5) di di 6) mei mei

does not carry any tone

A X —,
s ZA—%,

o EHLE 6 BT A E % 3
BN B0

1) Number

2) Number of weeks in a year:

3) Number of days in a year:

4) Number of grams in a kilogram:
5) Number of miles in the marathon:
6) Number of students in your Chinese class:

7) Number of students in your school:

8) Number of teachers in your school:
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10 maz, germaz o)

)
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a) T
b) v9-ug
c) Wt

%wi§%+% ?
b NEEH
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c)
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LH X + T
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bd ba
ge ge
yé ye
wu shu
lao shi

ge da

jichi
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LEELJEH A

xing qi i ‘ xing qi  ér | xing qi san

shéng ri shéng ri ba ri HE ﬁ = ‘ #p =
@E be born @ E] day é E] birthday /\ EJ the 8th day of a month ! ilﬂ i }] i/ﬂ*

hao ba hao ba i
E (9) daeofamontn /\F =)\ H | xing gt & | xing @ wd
EHA

yue Jio yue jit yue san hdo wé de sheng ri shi jil yué san hdo Eﬂﬁﬂ EQ
ﬂ month jLFJ September jLﬂ 3‘%‘ 3" September ﬁa l%]/‘] é H %ﬁﬂ E_-:'jj o .

ni de shéng ri shi ji yue ji hdo | - -

(1]
(3]
(4]
| © JL (%) rovmary fRE0E BENANLE? x5
(6]
(8]
(0

7N i‘/ﬁ}] H r xing qi tian ‘
xing q xing qi xing gt ri _ e E _,’g‘_ i
E star 0 /ﬁ}] a period of time E;H}H week Eﬁﬂ E] Sunday }]

tidn xing qi tidn xing gi  ri
b i day E—ﬁ;ﬂ 3—( - E—/ﬁﬂ a F Yl yué ér yué san yué |
fin jin tidn jin tian j hdo  jin tian ba hao — A = H =H |
/7\today /‘7\7_§today 47\5’%)1\%? /ﬁ\i/\%o —
A ° ° L4 . b — f
1 Grammar: When a sentence only contains a subject and a time word (year, sl yué wl yue i lig yue
date, day of the week, specific time, age, etc.), “&” is not needed. W )E] _E_ )E] ‘ 75
2ud zué fian 2U6 tianxing qi i zud tidnxing qi tian . ' ; =
‘ 9 i qi yue ba yue jid yue
@ B/Fyesterday E}}Eiyesterday H’Fi&}wﬂj H/Eiig;ﬂ;ﬁio ‘ 'b);] ‘ /\}:] 711‘};]
ming mingtidn mingtian ji hao  mingtian ér shi hdo R
H):] next Ey:]itomorrow miﬂg%? Eﬁi:—‘]—%o _ - —
shi yue shi  yT yue shi ér yue
+A | +—A | +=n

| —R2iE o)
BE . R
[ Jjin tign §ji  hao jin tian q7 hao
SRILE? SREF,
ming tian ji hdo ming tian ba hdo
RARILET? ARNT,
' qi  hao ba hdo bd hdo qi  hdo

5. AT, NF., k5,




w1 )

jin tian ji hdo
)2

0B ASRILE?
jin tian ba hdo

B: &~ X N\ F

zué tian xing qi ¥

& A TEREMILY
zud tian xing qi  tian

B: E]’j? k i ';Et}é] k o
ming tian ji hao

B R JL5 7

ming tian ér shi hdo

ni de sheéng ri  shi ji yue ji hdo

O Akt E BRTLALE?

B: AR =15,

L FBEH/\B (3% #/
- EH0

+H+AB (X
BHE BOVED |

+-B=8 (5%) /

S/ //
g /
/
/

(0
fl a 1)
@E?&@L lﬁ

+RE (B\BX)
X HOEE

jit yue san hao

B: /LA =5,

* = :
12 R 456
T8 1c 11 r243

Bl

jin tian i héo
A K L5 7

shi ba hao
B: —l—/ \"%‘ o

ming tian xing qi  Ji
A:%jiéjmﬂﬂ

xing qi  wil
B: £H A,

N de shéng ri shi ji yue ji hdo
Aﬂﬁﬁ@iﬂﬂﬁjlﬂ}b%ﬂ

shi yue shi jid hao

B: —]A}E] "]_7’14"%—0

—O—R%E T—A
Ed— | EH= | 2= | EHw | EHE | 2 | 2HE
1 , 3 4 5 (6)-;

7 8 f 9 ~Q0) 11 12 13 %
~(4) 5 | i1 |17 18 - | 20 |
E 21 22 | i 23 i 24 @~ | 26 i o7 |
28 29 30
By S C o

shi yi yue¢ shi si hao Xing qi yi

>t — A +wE EH—

LR

(WY

héng zhé

sht gou xié gou wo gou
® ® @
wan gou pié zhe pié didn shu wan

L ||

=

shu i

shu wan gou

héng zhé wan gou héng zhé gou




| i 2 *’iﬁi‘

@ 6 6 o

nién
$ year

chi chiishéng

& Qo or come out Hj é be born

wd er ling ling yi nian chiishéng

H#_OO—%H 4,
ATRE . A

Grammar: Sentence Pattern: snbject +Time Word + Verb

xié Xié xie

'i%]L (EEJL) thank iﬁ]ligﬁ thanks
zht

‘m wish

kuai

B happy
kudi le

/'% (%) neppy HZR happy

zhi ni shéng ri kudi &

PR £ B HRAR!

Swtmr, srxns
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=D (55 /// |

/ NBZT+=H

/  EME (ER

@ | nene
£10 () // ‘;:g
Al=pil=
] 28— (5%)

zué tian [ hao

A FEX L5 7

B:
Jin tidn xing qi i

A: Zr\iiﬁ}] JL?

L 2N
- (#TBVEBD

Bi¥-
jin tian ji hao
A: 17\3:\)14"‘;‘7
er shi er hdo
B: :‘—]—":"-%-o
ming tian xing qi i
A: BH fiiﬁf] JLY?

xing qi  wi

B: gﬁ}]_ﬁ—o

—RB+AH
28" (5X)

/
SLs /
‘,‘,:“_ ,x- /  ZBtrE

E/= (88X

Jin tign xing g1 ji

A: Zr\f\ivﬁﬂﬂﬂ

B:
ming tian ji  hdo

A: Bl X L5 7

jin tidn shi wdé de shéng ri

A: 4\%7%&‘6{3 i EI o

B:

ni de shéng ri shi ji yue ji hao

A RS AE B ZIJUA LS ?




#x2 [

e e : ai ei ao ou an en ang eng ong
jin tian shi woé de shéng nri :
A SR AR E R, ia ie iao iou(iu) ian in iang ing  iong
Zh W sheng ri kadi 12 | ua uo uai uei(ui) wuan uen(un) uang ueng
B: AL & B PR ) e uan un
xXié xXie ni de shéng ri  shi ji
A: ‘;ﬁﬂ";ﬂﬂ" /fq}’\ \fllj i EJ jE,E)L B 1) The tone mark is placed above the final.
| e i hio BIs. ZHm
ﬂ H
| AIL57?

2) When there are two vowels, the tone mark is placed above the vowel which comes

wé de shéng ri shi san yué wi hdo
earlier in the following order:

B: kA BRZ=ZH LT,

wd er ling ling yi nian chd sheng

KR —OO—FhA,

a o e | u u

zud tidn kuai fe xie xie

By MR e IR s

6 5] 3) When “i” and “u” come together, the tone mark is placed above the last vowel.
' i sul
e R = - BIS. % # (ago
- AP, ’
c HEAANEFEEA Sﬁ—ﬁ
. Rxedn,
BT &, 1) &i hao 2) dui shéu 3) nid jin
\ T
& é/ u ﬁgf_.t j\ q. X:
4) xué xi 5) ér chui 6) jﬁ)zi When €7 “q”  “x”
| (ue) (u ’ ’
Ly 2 12
frag £ B 2 R , . . meet “iu” | the two dots
JUR JLE9 7) mén kou 8) gin zhong  9) bié rén
KR (in) above “U” disappear.
10) qué kou 11) dié ddo 12) yang fan
(ie)
é‘ _’i_ EJ T N e - v - . 7 \
K . 13) bei feng  14) xué gao 15) jué dui
+A=%. = tee)




9%@

c BAAERE
B TARRE A 4
B A

B AEAHA
SHE—A, &
A B 5 HER
—HE,

— R = I BANEDE
—p==,

a) T A=+/5
b) +—H=
o) —AT+HF

T+

j=4

£

a) —NUNEF+ZA+ LT
L b) —AUAEF A TRF

c) —LAENF+ A THF

BHREHRZR
NB. SRR

zhtt ni sheng ri
AR £ B
zht ni shéng ri
AR A H

zhd o sheng ri

AR E B

s

zhi ni shéng ri

AR £ B

Rk,

% 4 H

f==ﬁﬁm==%
« BWFAELSB /

cFARKIHO

TLHE G T
AR,

kudi 1
R
kudi 18
R
kadi 1
BRIR |

kuai lé

B iR !
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